Practice Questions for Final be sure to study ALL other exams/practice exams and homework assignments:

1. Two firms compete in selling a good; one firm does not know the other firm’s cost function.

Assume that both firms face a constant marginal cost. Assume that both firms know that the marginal cost for firm 1 is 3.6. Firm 2 only knows its own marginal cost, and firm 1 believes the firm 2’s marginal cost is 2.4 with probability 
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and that firm 2’s marginal cost is 4.2 with probability [image: image2.wmf]3
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. Assume the demand curve is given by: 
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. Finally, where appropriate, assume that Firm 1 is the first-mover in a sequential game.

a. Assuming they are Cournot competitors, find the Nash Equilibrium and the equilibrium price.

b. Assuming they are Stackelberg competitors, find the Nash Equilibrium and the equilibrium price.

c. Compare the above Cournot NE and Stackelberg NE to the situation in which firm 1 is a monopolist. Is the outcome what you would expect? That is, how does the uncertainty of firm 2’s cost function impact the equilibrium and what is your intuition for this result.

2. Suppose that you are involved in a legal suit. If you win the suit (the good outcome), you get $20,000. If you lose (the bad outcome), you get $0. Suppose that you find a lawyer who is willing to represent you for a fee that depends entirely on the outcome of the case. The lawyer can put high effort (H) or low effort (L) into your case. If the lawyer chooses H, the probability of winning is 0.75. If the lawyer chooses L, the probability of winning is 0.25. If you do not hire the lawyer, you will lose the case with certainty. The cost of H to the lawyer is $5,000, while the cost of L to the lawyer is $1,000. If the lawyer does not take your case, she has an outside opportunity that is worth $1,750 to her. The lawyer’s utility function is the wage minus their effort. 
a. Let 
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 denote the wage paid to the lawyer in you win (good) and lose (bad), respectively. Form the participation constraint, given that the lawyer will work hard.

b. Form the individual rationality constraint given the above information.
c. Solve for the least-cost combination of 
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 that motivate the agent to work hard. 

3. In a second-price auction, if there are 5 players and there is a known, uniform distribution of values from 0 to 100, what amount should you bid if your value is 80? Explain.
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